



suma de fracciones (fracción propia) (fracción
impropia)

Nombre: _____

Fecha: _____ Puntuación: _____

$$\frac{5}{2} + \frac{3}{7} =$$

$$\frac{2}{5} + \frac{7}{8} =$$

$$\frac{3}{6} + \frac{1}{7} =$$

$$\frac{5}{9} + \frac{7}{5} =$$

$$\frac{7}{9} + \frac{6}{5} =$$

$$\frac{1}{5} + \frac{3}{9} =$$

$$\frac{4}{5} + \frac{7}{9} =$$

$$\frac{7}{3} + \frac{7}{3} =$$

$$\frac{3}{8} + \frac{6}{5} =$$

$$\frac{3}{9} + \frac{7}{3} =$$

$$\frac{1}{3} + \frac{6}{5} =$$

$$\frac{2}{7} + \frac{3}{9} =$$

$$\frac{1}{8} + \frac{7}{3} =$$

$$\frac{4}{3} + \frac{7}{9} =$$

$$\frac{7}{2} + \frac{4}{6} =$$

$$\frac{3}{4} + \frac{4}{9} =$$

$$\frac{7}{4} + \frac{2}{9} =$$

$$\frac{3}{5} + \frac{6}{8} =$$

$$\frac{6}{8} + \frac{7}{6} =$$

$$\frac{4}{8} + \frac{7}{6} =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$\frac{5}{2} + \frac{3}{7} = \frac{41}{14} = 2\frac{13}{14}$$

$$\frac{2}{5} + \frac{7}{8} = \frac{51}{40} = 1\frac{11}{40}$$

$$\frac{3}{6} + \frac{1}{7} = \frac{9}{14}$$

$$\frac{5}{9} + \frac{7}{5} = \frac{88}{45} = 1\frac{43}{45}$$

$$\frac{7}{9} + \frac{6}{5} = \frac{89}{45} = 1\frac{44}{45}$$

$$\frac{1}{5} + \frac{3}{9} = \frac{8}{15}$$

$$\frac{4}{5} + \frac{7}{9} = \frac{71}{45} = 1\frac{26}{45}$$

$$\frac{7}{3} + \frac{7}{3} = \frac{14}{3} = 4\frac{2}{3}$$

$$\frac{3}{8} + \frac{6}{5} = \frac{63}{40} = 1\frac{23}{40}$$

$$\frac{3}{9} + \frac{7}{3} = \frac{8}{3} = 2\frac{2}{3}$$

$$\frac{1}{3} + \frac{6}{5} = \frac{23}{15} = 1\frac{8}{15}$$

$$\frac{2}{7} + \frac{3}{9} = \frac{13}{21}$$

$$\frac{1}{8} + \frac{7}{3} = \frac{59}{24} = 2\frac{11}{24}$$

$$\frac{4}{3} + \frac{7}{9} = \frac{19}{9} = 2\frac{1}{9}$$

$$\frac{7}{2} + \frac{4}{6} = \frac{25}{6} = 4\frac{1}{6}$$

$$\frac{3}{4} + \frac{4}{9} = \frac{43}{36} = 1\frac{7}{36}$$

$$\frac{7}{4} + \frac{2}{9} = \frac{71}{36} = 1\frac{35}{36}$$

$$\frac{3}{5} + \frac{6}{8} = \frac{27}{20} = 1\frac{7}{20}$$

$$\frac{6}{8} + \frac{7}{6} = \frac{23}{12} = 1\frac{11}{12}$$

$$\frac{4}{8} + \frac{7}{6} = \frac{5}{3} = 1\frac{2}{3}$$